Algebra ll
pg 309

b
o

B
o

e O e $-4+0 % | &z
L0k | gl | e
Sasiw 0% [§2223 | £1::3
|22 2% §2t23 | €3
) EZ‘HMT'E | §2t J.?;{'—E ) $0%
206 8 g

§_3~:6‘l’i§




20> t42:=4¢
. qe+8=0
(€34t +4)+Q-4:0
-"", 111 ('2);.' &
& -Z)" +4=0
Je
|€'2, =2
'L'Z = 22¢

22 tz;z




28) (£ 3x=2 )2 b 2%-5

xebx ~4=0 2 =J-5

(x%e3s)-4-120 l2 1= 95

65 §+iJ5 8
(*-3)*-13=0
Ja3 -2
[x-3) = &3

{3 tﬁg



30) (O.Ixt-o.éx'l'q: 0)0 30\;,333._. (2’§t Qi!

X -bx+90= D X+3 = Yx*
(x"-éx +1 )+%90-9 O o= HUx=%X=3
-€,-3,9 0= (4x +3Xx-)
(x-35 #2150 g
{Gent= 7o) 13
(%-3)= Q¢
%-3 = 2%

‘819;3



	Page 1: Feb 11-1:14 PM
	Page 2: Feb 12-9:22 AM
	Page 3: Feb 12-9:30 AM
	Page 4: Feb 12-9:35 AM

